Money word problems

Grade 4 Word Problems Worksheets

Read and answer each question:

1.

A large pizza costs $8.90 and a small pizza costs $5.20. What is the difference
between the price of a large pizza and a small pizza?

Each donut costs $2.20. How much do 6 donuts cost?

4 hamburgers cost $10.00. Fries cost $2 each. How much does one hamburger
with fries cost?

A can of soft drinks is $1.50 and a bottle of juice is $2.80. What would it cost to
buy two cans of soft drinks and a bottle of juice?

A 3 scoops ice-cream cone costs $4.80. A single scoop ice-cream costs $2.00.
Which one costs less for each scoop of ice cream? How much less?
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Answers

1. $8.90 - $5.20 = $3.70
The difference in the price is $3.70.

2. $2.20 x 6 = $13.20
6 donuts cost $13.20.

3. $10.00 + 4 = $2.50
One hamburger costs $2.50.
$2.50 + $2.00 = $4.50
One hamburger with fries cost $4.50.

4. $1.50x 2 + $2.8 = $5.8
The total cost of two cans of soft drinks and a bottle of juice

5. A single scoop cone costs $2 and has only one scoop.
$2.00/ 1 = $2.00 per scoop

A triple scoop cone costs $4.80 and has 3 scoops.
$4.80 /3 = $1.60 per scoop

$2.00 - $1.60 = $0.40

You are saving $0.40 per scoop by buying the triple scoop cone.
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